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QUIZ-01

1. sin”'(X) BT SIAF (Wid) RTE?

A. (00, 00) B. [-1, 1]
C. [0, 1]
7T : sin~(x) dacdl [-1, 1] & Tt gRYTNd eldT &
2. tan™(x) BT 35 (RTH) AT 87
A.[-11/2, 11/2] B. [0, 7]
C[11]
7T : tan '(x) & HIH 8RR [-11/2, 11/2] & St eld €|
3. cos™(x) P IR H AHfcifad & & B IT HATTET 87
A. Domain: [-1,1], Range: [-11/2, 11/2]
B. Domain: [-1,1], Range: [0, 17]

C. Domain: (-0, o), Range: [0, 17]

ST&RT: YHA QRAT Ueh-TehdT §ATE Jdl &, Safei WRId
[-11/2, 71/2] E1aT 8|

5. sin™'(x) &7 AT fbd PR UTH fbaT 57T hare?
Ay =x b IR H sin(x) &b ATH bl GRAfAT
B. x-3781 & &R H sin(x) & UT0 I ST
C.y-31&{ b TR H sin(x) & ATH Bl GAHT

7T : Tt et BT GhH y = x [T & g H 3HbT
WRIad grdl gl

D.[-1/2,7/2]  (B)

D. [-11, 1] (A)

D. Domain: [-1,1], Range: [, 1] (B)
IR : cos \(x) [-1, 1] & foie aRUTSd & 3R s9hT R

[0, 7] ElaT &l
4. sin™\(x) &t THE oo ARAT T 87
A. [-1, 7] B. [0, 1]
C.[-1/2,11/2] D. [0, 71/2] ©

D. sin(x) & AT bl 11 gRT 3dTiCd BT (A)

6. cosec(x) fiod & feie uRuTS a7t 8°
A. X € (=00, =1) U (1, o0) B.x=0
Cxe(-11)

&7 : cosec(x) —131R 1 &t uRMTiEd 78t grar

D.x € [-1,1] (@)

7. afgy = sin”(x), a sin(y) &T °TH a7 8 19TT?

A.1/x B. X

C.—x D.0 (8)
ZregT: 519 x € [-1, 1] EdT 8, dd sin(sin”'(x)) = x I

eldr gl
8. cot™(x) Bl YA H[ed ARATH WRIH T 8?

A.[-11/2, 71/2] B. (O, )
C.[-m, 7] D.[-1,1] (8)
TERT: cot™(x) Pt UHA MAT (0, 1) It 2
9. sin™(-Y%) BT WM HH AT 8?

A.71/6 B.-11/6
C.11/2 D. -11/2 (8)
7T sin”'(-x) = =sin”'(x); sin"' (1) = 11/6, AT 3

~11/6 &l
10.TfS tan™'(1) + cos™'(-1%) + sin” (- V%), dl GRUTH &=IT

g

A.0 B.71/2

cm D. -7 (@)

SJT&T: 11/4 + 211/3 - 11/6 BT AT 11 BT 8l




